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from giskit import QuantumCircuit, QuantumRegister, ClassicalReg:
from giskit.primitives import Sampler
from giskit.visualization import plot histogram

g0 = QuantumRegister(1,
gl = QuantumRegister(1,
g2 = QuantumRegister(1,
g3 = QuantumRegister(1,
g4 = QuantumRegister(1,
g5 = QuantumRegister(1,
g6 = QuantumRegister(1,
g7 = QuantumRegister(1,
A = (ClassicalRegister(1,
B = ClassicalRegister(1,
C = ClassicalRegister(1,
D = ClassicalRegister(1,
E = ClassicalRegister(1,
F = ClassicalRegister(1,
G = ClassicalRegister(1,
H = ClassicalRegister(1,
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circuit = QuantumCircuit(q®, ql, g2, 93, 94, g5, q6, q7, A, B, C

circuit.h(q0)
circuit.x(ql)
circuit.h(qg2)

circuit.h(qg3)
Circuit.cx(q0, q7)
Ccircuit.cz(q0, ql)
circuit.cy(qg2, g3)
circuit.cx(qg4, g5)
circuit.s(g5)
circuit.t(qg6)
circuit.y(q7)
circuit.measure(q0, A
circuit.measure(ql, B
circuit.measure(g2, C
circuit.measure(q3, D
circuit.measure(q4, E
circuit.measure(qg5, F
circuit.measure(g6, G
circuit.measure(q7, H
display(circuit.draw())
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results = Sampler().run(circuit).result()
statistics = results.quasi dists[0].binary probabilities()

display(plot histogram(statistics))
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